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R Console Page 1
g<-function (point) {

x<-0

while (x!=7&x!=point) {

X<-sample(1:6,1)+ sample(l:6,1)}

if(x==7){0}else{1}

craps<-function (y) {
x<-sample(l:6,1) + sample(1:6,1)

if(x==7|x==11) {1}else{ if (x==2|x==3|x==12){0}else{point<-x
g (point)

PH

d<-sapply(1:100000, craps)
sum(d) /length(d)

{1] 0.49134

> d<-sapply(1:100000, craps)
> sum(d) /length(d)

[1] 0.49192

> d<-sapply(1:1000000, craps)
> sum(d) /length(d)

[1] 0.493385

> sgrt(.492929*(1-.492929)*1000000)
[1] 499.95

> 493385-492929

[1] 456
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